

$$a_1 = 40$$

$$a_4 = 91 \quad a_1 + 3d = 91 \Rightarrow 40 + 3d = 91 \Rightarrow 3d = 51 \Rightarrow d = 17$$

$$a_n = 208$$

$$a_1 + (n-1)d = 208 \Rightarrow 40 + 17n - 17 = 208 \Rightarrow 17n = 185 \Rightarrow n = 11$$

حاصل می شود

$$101, 108, 115, \dots, 997$$

$$a_n = 7n + 3 \quad 1 \leq n \leq 100$$

$$\frac{997 - 101}{7} + 1 = 129$$

۱۲۹ تا

$$a_{n+1} + a_{n+2} + a_{n+3} = -4n + 12 \Rightarrow (a_1 + nd) + (a_1 + (n+1)d) + (a_1 + (n+2)d) \Rightarrow$$

$$3a_1 + (3n+3)d \Rightarrow 3(a_1 + (n+1)d) = -4n + 12 \Rightarrow a_1 + (n+1)d = -\frac{4}{3}n + 4$$

$$a_n = a_1 + (n-1)d \Rightarrow a_1 + (n+1)d = -\frac{4}{3}n + 4 \Rightarrow d = -\frac{4}{3} \Rightarrow a_1 + d = 4 \Rightarrow a_1 = \frac{16}{3}$$

$$a_{14} = 9 + (14-1)(-\frac{4}{3}) \Rightarrow 9 - 17\frac{1}{3} = -8\frac{2}{3}$$

$$a_1 = 9 - 2(1) = 9 - 2 = 7$$

$$a_{14} + a_1 = -8\frac{2}{3} + 7 = -1\frac{2}{3}$$

$$a_r = 2^r - 1$$

$$a_n = 2^{n+1} = 2 \times 2^n$$

$$a_{13} = 2^{13} - 2$$

$$a_n - a_r = a_n - a_r$$

$$(2 \times 2^n) - (2^r - 1) = (2^{n+1} - 2) - (2^r - 2) \Rightarrow 2 \times 2^n - 2^r + 1 = 2^{n+1} - 2^r + 1$$

$$2^n = 2^{n+1} - 2^r \Rightarrow 2^n = 2^n(2 - 2^{r-n}) \Rightarrow 1 = 2 - 2^{r-n} \Rightarrow 2^{r-n} = 1 \Rightarrow r-n = 0 \Rightarrow r = n$$

$$\Rightarrow t_1 = 4, t_r = -1 \Rightarrow t = 2^n \Rightarrow t = 4 \Rightarrow 2^n = 4 \Rightarrow n = 2$$

$$a_r = 2^r - 1 = 3, a_n = 2^{n+1} = 4, a_{13} = 2^{13} - 2 = 8190$$

$$a_{10} - a_{12} = 2 \quad (a_1 + 9d) - (a_1 + 11d) = 2 \Rightarrow 2d = 2 \Rightarrow d = 1$$

$$a_{10} + a_{12} = 20 \quad (a_1 + 9d) + (a_1 + 11d) = 20 \Rightarrow 2a_1 + 20d = 20 \Rightarrow 2a_1 + 20 = 20 \Rightarrow 2a_1 = 0 \Rightarrow a_1 = 0$$

$$a_{11} = a_1 + 10d \Rightarrow -10 + 10(1) = 0$$

$$S_1 = a_1 + a_r + a_v + a_f + a_d$$

$$S_1 = \frac{1}{r} S_r$$

$$S_1 = \frac{d}{r} (ra_1 + rd) = d(a_1 + rd) \quad \{a_r = a_1 + rd\}$$

$$S_r = a_r + a_v + a_f + a_d + a_1$$

$$S_r = \frac{d}{r} (ra_r + rd) = d(a_r + rd) \Rightarrow$$

$$d[(a_1 + rd) + rd] = d(a_1 + rd)$$

$$S_1 = \frac{1}{r} S_r \Rightarrow d(a_1 + rd) = \frac{1}{r} \times d(a_1 + rd) \Rightarrow a_1 + rd = \frac{1}{r} (a_1 + rd) \Rightarrow$$

$$r(a_1 + rd) = a_1 + rd \Rightarrow ra_1 + rd = a_1 + rd \Rightarrow ra_1 = a_1$$

$$ra_r = a_1 + d \Rightarrow a_1 + ra_1 = ra_1$$

جمله دوم سه برابر جمله اول است

$$t_n = t_{n-r} + 1d \Rightarrow t_n - t_{n-r} = 1d \Rightarrow rd = 1d \Rightarrow d = d$$

$$a^r - b^r = (a-b)(a+b) \Rightarrow t_n^r - t_{n-r}^r = (t_n - t_{n-r})(t_n + t_{n-r}) \Rightarrow r_0 \times rt_v \Rightarrow r_0 \cdot t_v$$

$$\frac{t_n^r - t_{n-r}^r}{t_v} = \frac{r_0 \cdot t_v}{t_v} = r_0$$

$$(a-d)d = rd \Rightarrow r \times d = r_0$$

ف. برابر

$$d = \frac{b-a}{n+1} \Rightarrow d = \frac{(r+\sqrt{r}) - (r-12\sqrt{r})}{1r} \Rightarrow \frac{r+\sqrt{r} - r + 12\sqrt{r}}{1r} \Rightarrow \frac{13\sqrt{r}}{1r} \Rightarrow$$

$$d = \sqrt{r}$$

$$d = \frac{b-a}{n+1} \Rightarrow \frac{rr - r}{(fn-r)+1} \Rightarrow \frac{r_0}{r_{n-r}} \Rightarrow \frac{1d}{r_{n-1}}$$

$$A_n = a_{n+1} = a_1 + ((n+1)-1)d = a_1 + nd \quad 11 = r + nd \Rightarrow nd = 9 \Rightarrow d = \frac{9}{n}$$

$$\frac{9}{n} = \frac{1d}{r_{n-1}} \Rightarrow 11n - 9 = 1dn \Rightarrow rn = 9 \Rightarrow n = r$$

$$a_n + a_{n+r} = a_r + a_{1v}$$

$$(a_1 + (n-1)d) + (a_1 + (n+r)d) = (a_1 + rd) + (a_1 + 19d) \Rightarrow 2a_1 + (2n+r)d = 2a_1 + 20d$$

$$2a_1 + 18d \Rightarrow (2n+r)d = 20d \quad 2n+r=20 \Rightarrow 2n=14 \Rightarrow n=7$$

$$a_1 + vd = r(a_1 + rd) \Rightarrow a_1 + vd = ra_1 + rd \Rightarrow vd - rd = ra_1 - a_1 \Rightarrow a_1 = -d$$

$$a_k = a_1 + (k-1)d = 0 \Rightarrow d(-1+k-1) = 0 \Rightarrow k-2=0 \Rightarrow k=2$$

م. 2